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Le Chatelier’s Principle Worksheet #2-Honors Chem
For each of the following, indicate the direction the equilibrium would shift and what would happen to the concentrations of each substance in equilibrium.

1. The following equilibrium may be established with carbon dioxide and steam.
CO(g)  +  H2O(g)  ↔  CO2(g)  +  H2(g)  +  heat
What would be the effect of each of the following on the equilibrium and concentrations?

a.) The addition of more H2O?
b.) The removal of some H2?
c.) Raising the temperature?

d.) Increasing the pressure?

e.) Addition of a catalyst?

2. What would be the effect of each of the following on the equilibrium involving the synthesis of methanol?

CO(g)  +  2H2(g)  ↔  CH3OH(g)
a.) The removal of CH3OH?

b.) An increase in pressure?

c.) Lowering the concentration of H2?

d.) The addition of a catalyst?

